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1. Find the compound ratio of the following
1 : 2 and 3 : 5

1 : 2 rFkk 3 : 5 dk feJ vuqikr crk,¡A
(a) 3 : 10 (b) 3 : 5

(c) 10 : 3 (d) 5 : 3

2. Find the mixed ratio of the following 1 : 2,
3 : 5 and 5 : 9.

1 : 2, 3 : 5 vkSj 5 : 9 dk feJ vuqikr crk,¡A
(a) 1 : 6 (b) 1 : 5

(c) 1 : 3 (d) 1 : 18
3. Find the compound ratio of the following

0.45 : 0.55 and 
1 4

:
9 5

.

0.45 : 0.55 rFkk 
1 4

:
9 5

 dk feJ vuqikr crk,¡A

(a) 5 : 41 (b) 5 : 44

(c) 44 : 5 (d) 41 : 5

4. Find the duplicate ratio of 14 : 17.

14 : 17 dk oxkZuqikr crk,¡A
(a) 196 : 289 (b) 169 : 256

(c) 197 : 729 (d) 576 : 729

5. Find the duplicate ratio of 0.04 : 0.005.

0.04 : 0.005 dk oxkZuqikr crk,¡A
(a) 1 : 64 (b) 64 : 1

(c) 16 : 25 (d) 25 : 16

6. Find the subduplicate ratio of
16 : 25.

16 : 25 dk oxkZewykuqikr crk,¡A
(a) 4 : 5 (b) 5 : 4

(c) 256 : 625 (d) 625 : 256
7. Find the subduplicate ratio of

1 1
:

0.225 0.256
.

1 1
:

0.225 0.256
 dk oxkZewykuqikr crk,¡A

(a) 16 : 15

(b) 15 : 16

(c) 225 : 256

(d) 256 : 225

8. Find the triplicate ratio of 3 : 5.

3 : 5 dk ?kukuqikr crk,¡A
(a) 27 : 125 (b) 9 : 25

(c)
1 1

3 33 : 5 (d) 125 : 27

9. Find the triplicate ratio of 
1 1

0.49 0.343
: .

1 1

0.49 0.343
:  dk ?kukuqikr crk,¡A

(a) 7 : 10

(b) 10 : 7

(c) 343 : 1000

(d) 1000 : 343

10. Find the subtriplicate ratio of 512 : 729.

512 : 729 dk ?kuewykuqikr crk,¡A
(a) 8 : 9 (b) 8 : 7

(c) 7 : 8 (d) 7 : 9
11. Find the subtriplicate ratio of

1 1

0.343 0.512
: .

1 1

0.343 0.512
: dk ?kuewykuqikr crk,¡A

(a) 7 : 8 (b) 8 : 7

(c) 6 : 7 (d) 7 : 6

12. Find the inverse ratio of 5 : 8.

5 : 8 dk çfrykse vuqikr crk,¡A
(a) 8 : 5 (b) 16 : 25

(c) 64 : 25 (d) 25 : 64

13. Find the inverse ratio of 
1 1

64 512
: .

1 1

64 512
:  dk çfrykse vuqikr crk,¡A

(a) 8 : 1 (b) 1 : 8

(c) 64 : 1 (d) 1 : 64

14. A watermelon is cut into two pieces in
ratio 3 : 5 of weight. The bigger part is cut
into two pieces in ratio 5 : 7 of weight
again. Then find ratio of resulting three
pieces according to their weights.

,d rjcwt dks Hkkj ds vuqlkj 3 % 5 ds vuqikr esa nks
VqdM+ksa esa dkVk x;k gSA muesa cM+s VqdM+s dks Hkkj ds
vuqlkj 5 % 7 ds vuqikr esa nqckjk dkVk x;k gSA rnuqlkj
mu rhukas VqdM+ksa dk vuqikr Kkr dhft,A
(a) 15 : 25 : 26

(b) 5 : 7 : 9

(c) 3 : 5 : 7

(d) 36 : 25 : 35
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15. A man leaves ` 86,000 to be divided among
5 sons, 4 daughters and 2 nephews, if each
daughter receives four times as much as
each nephew and each son receives five
times as much each nephew, then how
much each daughter receive?

,d O;fDr viuh ` 86]000 dh /ujkf'k dks 5 iq=kksa]
4 iqf=k;ksa] 2 Hkrhtksa esa ck¡Vrk gSA ;fn izR;sd iq=kh]
izR;sd Hkrhts ds /u dk 4 xquk /u izkIr djs rFkk
izR;sd iq=k] izR;sd Hkrhts ds /u dk 5 xquk /u izkIr
djs] rks izR;sd iq=kh dk fgLlk Kkr djsaA
(a) ` 1,000 (b) ` 6,000

(c) ` 8,000 (d) ` 10,000

16. In a cricket match there are three types
of tickets say A, B and C each costing
` 1000, ` 500 and ` 200 respectively. The
ratio of tickets sold from category A, B and
C is 3 : 2 : 5. If the total collection from
selling the tickets is ` 2.5 crore. Find the
total number of tickets sold?

,d fØdsV eSp esa A, B vkSj C rhu izdkj dh fVdVksa
dh dher Øe'k% ` 1000, ` 500 vkSj ` 200 gSA
A, B vkSj C Js.kh esa fcds fVdVksa dk vuqikr 3 : 2 : 5

gSA ;fn fVdVksa dh fcØh ls dqy olwyh ` 2.5  djksM+
gSA dqy csps x, fVdVksa dh la[;k Kkr djsaA
(a) ` 5,000 (b) ` 4,800

(c) ` 50,000 (d) ` 52,000

17. ` 8640 distributed among A, B, C and D
such that 5 times the share of A, 4 times
the share of B, 8 times the share of C and
10 times the share of D all are equal. Find
share of C.

` 8640 dh jkf'k dks A, B, C vkSj D esa bl izdkj
ck¡Vk tkrk gS fd A ds fgLls dk 5 xquk] B ds fgLls
dk 4 xquk] C ds fgLls dk 8 xquk rFkk D ds fgLls
dk 10 xquk lHkh vkil esa cjkcj gSA C dkl fgLlk
crk,¡A
(a) ` 1200 (b) ` 1400

(c) ` 1300 (d) ` 1600

18. When 30% of a number is added to another
number the second number increases to
140%. What is the ratio between the first
and the second number?

tc fdlh la[;k dk 30» fdlh nwljh la[;k esa tksM+k
tkrk gS rks nwljh la[;k 140» gks tkrh gSA igyh vkSj
nwljh la[;k dk vuqikr crkb,\
(a) 3 : 4

(b) 4 : 3

(c) 3 : 2

(d) Data inadequate

19. When 50% of one number is added to a
second number, the second number
increases to four-third. What is the ratio
between the first number and the second
number?

tc fdlh la[;k ds 50» dks fdlh nwljh la[;k esa

tksM+k tkrk gS rks nwljh la[;k 
4

3
 Hkkx gks tkrh gSA

igyh la[;k vkSj nwljh la[;k dk vuqikr crkb,A
(a) 3 : 2 (b) 3 : 4

(c) 2 : 3 (d) Data inadequate

20. In a school 10% of number of boys is equal

to 
1

4
th of number of girls and 10% of

number of girls is equal to 
1

25
th of

number of boys. The ratio of number of
boys and girls is ?

,d fo|ky; esa yM+dksa dh la[;k dk 10»] yM+fd;ksa

dh la[;k dk 
1

4
 Hkkx gS RkFkk yM+fd;ksa dh la[;k dk

10» yM+dksa dh la[;k dk 
1

25
 Hkkx gSA yM+ds rFkk

yM+fd;ksa dh la[;k dk vuqikr fdruk gS\
(a) 3 : 2 (b) 5 : 2

(c) 2 : 1 (d) 4 : 3

21. By increasing the price of entry ticket to
a fair in the ratio 9 : 13, the number of
visitors to the fair has decreased in the
ratio 7 : 4. In what ratio has the total
collection increased or decreased?

,d esys dh izos'k fVdV ds ewY; esa 9 % 13 ds vuqikr
esa o`f¼ djus ij] esys esa vkus okys yksxksa dh la[;k
7 % 4 ds vuqikr esa de gks xbZ gSA dqy ladyu esa
fdl vuqikr esa o`f¼ ;k deh gqbZ gS\
(a) increased in the ratio 52 : 13

(b) increased in the ratio 36 : 91

(c) decreased in the ratio 63 : 52

(d) decreased in the ratio 91 : 36

22. By increasing the price of entry ticket to
a fair in the ratio 11 : 16, the number of
visitors to the fair has decreased in the
ratio 19 : 9. In what ratio has the total
collection increased or decreased?

,d esys dh izos'k fVdV ds ewY; esa 11 % 16 ds vuqikr
esa o`f¼ djus ij] esys esa vkus okys yksxksa dh la[;k
19 % 9 ds vuqikr esa de gks xbZ gSA dqy ladyu esa
fdl vuqikr esa o`f¼ ;k deh gqbZ gS\
(a) decreased in the ratio 209 : 144

(b) increased in the ratio 144 : 209

(c) increased in the ratio 99 : 304

(d) decreased in the ratio 304 : 99

https://t.me/mathsbyadityaranjan


M
at

hs
 b
y

A
di

ty
a 

R
an

ja
n 

si
r

[ 3 ]

23. Ratio of the expenditure of a person on
food, rent and other is respectively 3 : 4 : 5.
If their expenditure increase respectively
by 60%, 50%, 20%. Find the ratio of the
new expenditure?

,d O;fDr dk Hkkstu] fdjk;s vkSj vU; [kpZ dk vuqikr
Øe'k% 3 % 4 % 5 gSA ;fn bu enksa ij gq, [kpks± esa Øe'k%
60»] 50» vkSj 20» dh o`f¼ gks tkrh gS] rks u,
[kpZ dk vuqikr crk,¡\
(a) 2 : 3 : 3 (b) 4 : 5 : 5

(c) 5 : 3 : 2 (d) 4 : 5 : 6

24. The side of a triangle are in the ratio

1 1 1

2 3 4
: : . If the perimeter of the triangle

is 52 cm, the length of the smallest side
is :

,d f=kHkqt dh Hkqtk,¡ 
1 1 1

2 3 4
: :  ds vuqikr esa gSA

;fn f=kHkqt dk ifjeki 52 lseh- gks rks lcls NksVh
Hkqtk fdruh yEch gksxh\

(a) 24 cm (b) 8 cm

(c) 12 cm (d) 9 cm

25. The ratio of fares of 1st and 2nd classes
between two railway station is 10 : 7.
Further, the fares are increased in the ratio
of 3 : 4 and 5 : 9 respectively. If the ratio
of the number of passengers of the both
classes is 3 : 5 and hence total ` 30,900 got
as a fair. How much amount collected from
2nd class?

nks jsyos LVs'kuksa ds chp izFke rFkk f}rh; Jsf.k;ksa ds
fdjk;s ds chp 10 % 7 dk vuqikr Fkk rFkk ckn esa
fdjk;s esa Øe'k% 3 % 4 vkSj 5 % 9 ds vuqikr esa o`f¼
gqbZA ;fn bu nksuksa Jsf.k;ksa esa ;k=kk djus okyh ;k=kh
3 % 5 ds vuqikr esa gks rks dqy ` 30]900 fdjk;s ds
:i esa izkIr gksrs gSaA f}Rkh; Js.kh ls fdruh jk'k fdjk;s
ds :i esa izkIr gq,\
(a) ` 18,900

(b) ` 19,400

(c) ` 20,200

(d) ` 17,300

1. (a) 2.(a) 3. (b) 4. (a) 5. (b) 6. (a) 7. (a) 8. (a) 9. (c) 10. (a)

11.(b) 12.(a) 13.(b) 14.(d) 15.(c) 16.(c) 17.(d) 18.(b) 19.(c) 20.(b)

21.(c) 22.(c) 23.(b) 24.(c) 25.(a)

Answer Key
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